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Ql. _ 2ia 2B g\Y? e \V2
Ifp=e ,q=ce ,then(p) — (q) = e

Option A: [ 2 cos 2(a — B)
Option B: | 2isin(f — o)
Option C: | 2isin sin (a — B)
Option D: [ 2 cos2(B — )

Q2. Test for consistency and if consistent then find the value of z

X+y+z=3x+2y+3z=4x+4y + 92 =6

Option A: | Consistent ; z=0
Option B: | Consistent ; z=1
Option C: | Inconsistent
Option D: | Consistent ; z=2

Q3. Roots of x° — i = O are
Option A: | cos(4k + 1)% + isin(4k + 1)% ;k = 0,1..6
Option B: | cos(4k + D¢ + isin(4k + )¢ ;k = 0,1..5
Option C: | cos(4k + 1)73 + isin(4k + D73 sk = 0,1..5
Option D: | cos(4k + D5 + isin(4k + 1)=5;k = 0,1..6

Q4. If A=[1000 —10003],thenrankofAis
Option A: |2
Option B: |3
Option C: |1
Option D: | 0

Q5. Amplitude and modulus of z = 1 4+ cosa — isina are respectively
Option A: _a o a

ption T - &

OptionB: | _ /2 &%
Option C: | cos cos - &+
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Option D: | tan tan % &a/2

Qo. Stationary point is a point where f(x,y) has

Option A: | 2L _
ox

Option B: | 2L _
ay

OptionC: | 2L _ 2L _|
0x > 0y

OptionD: | 2L o 9L~
ox ox

Q7. Let A=[57 — 3 4] be expressed as P+Q, where P is a symmetric matrix and Q is
a skew symmetric matrix. Which one of the following is correct?

OptionA: [Q=[0 — 550]

Option B: Q=%[5 —374]

Option C: | 9==-[010 — 100]

OptionD: | g=—[510 — 100]

Q8. Find the value of log log (\/3 - i)

Option A: | jpg4 + =

Option B: | jpg2 + i~

Option C: | jpg4 — i~

Option D: | jpg2 — ;=

Q9. The Taylor’s series for f(x) = 2+ 7x° + x — latx=2is given by
a+ b(x —2)+ c(x — 2)2 + d(x — 2)3. Find the value of (a+b+c+d)

Option A: | 117

Option B: | 66

Option C: | 119

Option D: | -113

Ql1o0. Consider System AX = 0, where A is n x n matrix and X is n x 1 unknown column
vector, This system will have infinite solution if

Option A: | RankA=n
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Option B: | Rank A>n

Option C: | Rank A<n

Option D: [ Rank A = n+1

Qll1. Which of the following is false

Option A: | Ginh sinhx = =< _Zle

Option B: | tanix = itanhx

Option C: | osech’x = coth’x — 1

Option D: | Sin% + cos?x =1

Ql12. If u = loglog (tanx + tany) then sinsin ng—z + sin sin Zyg—l; =
OptionA: [ 0
Option B: | 1
Option C: | -1
Option D: [ 2

QI13. secsecB ) =

Option A: log(secsec® ++6 + 1)

Option B: | jog(secsec® —+/0 + 1

Option C: | log(secsec® — tanB)

Option D: [ log(secsec® + tan®)

Ql4. Is the matrix A=%[1 1+ i1 —1i — 1]Unitary? If yes, then find its inverse.

Option A: [ Not Unitary

Option B: | Unitary, A*= A"

Option C: | Unitary, A=A

Option D: | ynitary, A'=4

QI5. (cosh cosh x — sinh sinh x )n =

OptionA: [x + x

Option B: | x — sinh sinh nx

Option C: | nx — isinsinnx

Option D: [ nx — isinh sinh nx

Qlo6. If x = rcos®, y = rsinB then x(g—’;) + y(g—}r’) =
Option A: |2 4 yz
Option B: |r
Option C: | cosO
Option D: [ sin sin 6
Q17. If A;,is an orthogonal matrix then rank of matrix A is

Option A: |0
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Option B: |1
Option C: | 2
Option D: |3
QI8. Ifu=f(x—y,y—z,z—x),then%+g—l;+gz=
Option A: |3
Option B: |1
OptionC: |0
Option D: | -1
19. 4y’ d d
Q Ifu = i5+§5 then x% + ya_Z:
Option A: | -3u
Option B: | 2u
Option C: %u
Option D: | -2u
Q20. _ x3+y3 2& 9°u 2 9’u _
Ifu = g then x " + 2xy 230y +y el
Option A: | sin sin 4u — cos cos 2u
Option B: | cos cos 4u — sin sin 2u
Option C: | cos cos 4u — cos cos 2u
Option D: | sin sin 4u — sin sin 2u
Q21. If y = acoscos (loglog x) + bsin(logx) then
- - >
Option A: | y,—xy —y= 0
- - >
Option B: | . y,+xy —y= 0
Option C: xzyz +xy +y= 1
Option D: xzyz +xy +y=0

22. 3
Q Evaluate tif3)

15

(/3-0)

Option A: 4(cos— + isin-g)

Option B: 4(cos+ + ising)

OptionC: | L L ST 4
p o (cos— + isin—)

OptionD: [ L L ST 4
p o (cos— + isin)
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Q23. Solve the following equation by Gauss Seidal Method up to 2 iterations and
find the value of z.

20x +y-2z=17
3x+20y-z=-18

2x -3y +20z=25

Option A: | 1.88

Option B: | 1.22

OptionC: |0

Option D: | 0.9998

Q24. In Regula Falsi Method , the first approximation is given by
OptionA: |, — Y B)=bf(@)
1 f(b)—f(a)
Option B: |, — bfB)—af(@
1 f)—f(@)
Option C: |, — &(@-bf(h)
1 f(@—f(b)
Option D: |, = bf®)-af(@
1 f(@—f(b)
Q25. The equation f(x) is given as x’ = 2x — 5 = 0. Solve using Newton Raphson

Method, considering the initial approximation at x=2 then the value of next
approximation correct up to 2 decimal places is given as

Option A: | 2.08

Option B: | 2.09

Option C: | 2.06

Option D: | 2.10
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Q19. A
Q20. D
Q21. D
Q22. A
Q23. D
Q24. A
Q25. B

Correct Option
Question | (Epter either ‘A’ or ‘B’
Number or ‘C’ or ‘D)
Ql. B
Q2. A
Q3. C
Q4 B
Q5 B
Q6 ¢
Q7 ¢
Q8. D
Q. c
Qlo. c
Qll. A
Ql2. D
Q13. D
Ql4. C
Ql5. B
Qle. B
Q17. D
Qls. C
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